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1.
Steel warehoused in Dallas and Cincinnati is needed in Miami, Lincoln, and Phoenix.  The table below shows the profit per ton for each possible route. Also shown in parentheses are the amounts available and required at each location.  Find the maximum profit possible while supplying all the needs.  

	From
	
	To
	

	
	Miami 
(600)
	Lincoln 
(300)
	Phoenix (100)

	Dallas (400)
	6.00
	4.80
	5.80

	Cincinnati (600)
	3.50
	3.80
	5.30



F=2x+0.5y+3970 if x from Dallas to Miami and y from Dallas to Lincoln

Solve using

a) Graphical method


b) Excel Solver ® 
2. 
A manufacturing firm has 1000 employee-hours per day in the assembly area where the following items are put together: high-pressure cylinders, landing gear brackets, and jet engine combustion canisters.  By license agreement the firm can manufacture only twenty cylinders per day.  Furthermore, each product must pass through the certification and quality assurance facility that has 2000 employee-hours per day available.  Each cylinder requires 3 hours in the certification and quality facility, each bracket 2 hours, and each canister 1 hour.  Each cylinder, bracket, and canister requires 0.5, 2, and 0.2 employee-hours, respectively, to assemble in the assembly area.  If each cylinder, bracket, and canister returns a profit of $85, $314, and $50, respectively, 

· How many of each item should the firm produce to maximize its income? 

· How much of each resource is left unused? 

· What is the firm's profit?

· What changes should be made?


Solve using

a) Simplex Method

b) Excel Solver ® 

c) What would be the profit if the license agreement required 20 cylinders minimum to be produced? 















































( Stanley M. Howard 2000


